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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-10

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ERE

07:25 283 150.0 2. 888 B5| FnHA@O07:25 KRENFEF (REEEEE)
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10:40 283 150.0 2. 888 M| FiHAe10:40 KREIZF (REAEHE)
11:15 283 150.0 2.888 | FHEpe11:15 REAEF (REAEZRER)
11:50 283 150.0 2.888 m|  FHA@11:50 KREFEF (RAERER)
12:25 283 150.0 2.888 RS ThHAe12:25 kENFEF (CRAMEEER)
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13:35 283 150.0 2.888 FA| FiHR@13:35 KRHIEF (KAL)
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16:00 283 150. 0 2.888 | FI| FiHB@16:00 KEFEF (RAMEEEE)
16:50 283 150.0 2. 888 M| Fi#Ae16:50 KREIZF (REAEHE)
23t 4528.0 (16)%) 2400. 0 32933 %EC: 2080.0, PH: 6.0

FEIKECE (1897.0 vs 4205.0) 15
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P3-10

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

07:00 283 150.0 2. 888 BE| {Ri&@07:00 Bz (REERESE)
07:35 283 150.0 2. 888 s {Ri&e07:35 Bnl (REAEESE)
08:10 283 150.0 2.888 el {Ri&e08:10 BHa (REAERHE)
08:50 283 150.0 2. 888 RS {RRi%e08:50 Bz (REEREE)
09:25 283 150.0 2.888 RS {Ri%@09:25 B (REEREE)
10:00 283 150.0 2.888 B 1Ri%e10:00 B3h (REEESE)
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11:05 283 150.0 2.888 S| Ri%e11:05 Bz (REERRSR)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:05 283 150.0 2.888 S| Rige12:05 Bz (REAEHE)
12:35 283 150.0 2. 888 e Rige12:35 Bz (REAERSE)
13:05 283 150.0 2.888 el Rige13:05 Bal (REAEHSE)
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16:25 283 150.0 2. 888 el Rige16:25 Bal (REAEESE)
17:20 283 150.0 2.888 el Rige17:20 Bz (REAERSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 6.0
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P3-10

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

07:00 283 150.0 2.888 RS {Ri%@07:00 Bzl (REERER)
07:35 283 150.0 2.888 B 1Rige07:35 Bzh (REEESE)
08:10 283 150.0 2. 888 RS {Ri%e08:10 Bzl (REEREE)
08:55 283 150.0 2.888 A5 {Ri%@08:55 B (RFHEREE)
09:35 283 150.0 2.888 RS {Ri%&e09:35 Bzl (REERSE)
10:15 283 150.0 2.888 RS Rige10:15 Bz (REAEHE)
10:50 283 150.0 2.888 S| Ri%@10:50 Bzl (REERR)
11:25 283 150.0 2.888 B Rige11:25 Bzt (REAERSE)
11:55 283 150.0 2.888 RS Rige11:55 Bz (REAERE)
12:30 283 150.0 2. 888 B Rige12:30 Bz (REAERSE)
13:05 283 150.0 2.888 S| 1Rige13:05 Bah (GREERESE)
13:40 283 150.0 2.888 BE| Rige13:40 Bz (REAEHE)
14:15 283 150.0 2. 888 B Rige14:15 Bz (GREAERSE)
14:50 283 150.0 2.888 S| 1Rige14:50 Bah (REERESE)
15:30 283 150.0 2.888 el Rige15:30 Ba (REAERE)
16:10 283 150.0 2. 888 BE| Rige16:10 Bz (REAEESE)
17:05 283 150.0 2.888 S| Ri%e17:05 Bz (REERER)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEKECE (1877.0 vs 3532.0) 45



P3-10_0, Day=66 (2025-06—07)

R e e et .
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Warning: lcol [FVI',| "FVO’'] missing
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P3-10

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:30 283 150.0 2. 888 BE| {RRi%006:30 Bz (REEHSE)
07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
07:50 283 150.0 2.888 B 1Rige07:50 Bah (REEEER)
08:35 283 150.0 2. 888 RS {RRi%e08:35 Bz (REAEREE)
09:10 283 150.0 2.888 RS Ri%@09:10 Bzl (REERR)
09:45 283 150.0 2.888 RS {RRi&e09:45 B (REAEHE)
10:20 283 150.0 2.888 RS Ri%@10:20 Bz (REAERE)
10:50 283 150.0 2.888 S| Ri%@10:50 Bzl (REERR)
11:20 283 150.0 2.888 B Rige11:20 Bz (REAERSE)
11:50 283 150.0 2.888 S| Rige11:50 Bz (REAERE)
12:20 283 150.0 2. 888 B Rige12:20 Bz (REAERSE)
12:50 283 150.0 2.888 | 1Rige12:50 Bah (REERESE)
13:20 283 150.0 2.888 RSl Rige13:20 Bz (REAEHE)
13:50 283 150.0 2. 888 B Ri8e13:50 Bz (REAERSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Bz (REAERE)
15:25 283 150.0 2. 888 BE| Rige15:25 Bz (REAERSE)
16:00 283 150.0 2.888 S| Ri%e16:00 Bzl (REERESR)
16:40 283 150.0 2.888 S| Rige16:40 BHal (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEHECE (1820.0 vs 3380.0) 15

150.0), FAEEHT—@ % XA HS




P3-10_0, Day=65 (2025-06-06)

FRV (ml plant-1)
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P3-10

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:30 283 150.0 2. 888 RS {RRi%e06:30 Bz (REEREE)
07:25 283 150.0 2.888 A5 {Ri%e07:25 B (REERESR)
08:40 283 150.0 2.888 [Z=| 1Ri&e08:40 Bzh (FEEEEE)
09:30 283 150.0 2.888 FH| 1BRi%@09:30 Bzh (kAMEEEE)
10:10 283 150.0 2.888 FH| 1Bi&@10:10 B3h (RAMERES)
10:50 283 150.0 2.888 FA| {Ri&@10:50 Bzl (GkAEEE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bzl (RAERSE)
12:20 283 150.0 2. 888 FH| 1Ri%e12:20 B3 (kABERSE)
13:10 283 150.0 2.888 [Z=| 1®Rige13:10 Bzh (REEESER)
13:55 283 150.0 2.888 |Z=| {Ri%e13:55 Bz (REAEHE)
14:35 283 150.0 2.888 |Z=| {Ri&e14:35 Bz (REAEHE)
16:00 283 150.0 2.888 |Z=| {Ri&e16:00 Bz (KEAEHSE)
17:10 283 150.0 2.888 |Z=| {Rige17:10 Bz (REAEHE)
249t 3679.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 5.8

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE147.0 ml.

HEEKECE (1773.0 vs 3283.0) 15

147.0), AlEEHT—R % XA HS
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